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Key:

Part A: Mandy must sell at least $20,000 in goods this month in order to cover her
planned expenses.

Part B:










 

Grade 7 Mathematics  8  Common Core Sample Questi o n s  

Domain: Expressions and Equations  Item: CR  Mandy’s  monthly  earnings  consist  of  a  fixed  salary  of  $2800  and  an  18%   commission on all her monthly sales. To cover her planned expenses, Mandy  needs to earn an income of at least $6400 this month.  Part A: Write an inequality that, when solved, will give the amount of sales  Mandy needs to cover her planned expenses.   Answer: ___________________   Part B: Graph the solution of the inequality on the number line.       

Key:  

Part A: Mandy must sell at least $20,000 in goods this month in order to cover her 

planned expenses. 

Part B:  

 

Aligned CCLS: 7.EE.4b 

Commentary: This question aligns to CCLS 7.EE.4b because it assesses a  student’s  ability  

to write and solve a linear inequality based on a word problem, represent the solution 

graphically, and interpret it in the context of the problem. 

Rationale: Let x represent the amount of sales Mandy needs to make this month. It 

follows that 

 

2800 + 0.18x ≥  6400 

             0.18x ≥  3600 

                     x ≥  20,000 
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Key: 6

The sample space is

(Green, A)
(Green, B)
(Green, A)
(Green, B)
(Green, A)
(Green, C)

(Yellow, A)
(Yellow, B)
(Yellow, A)
(Yellow, B)
(Yellow, A)
(Yellow, C)

(Green, A)
(Green, B)
(Green, A)
(Green, B)
(Green, A)
(Green, C)

(Red, A)
(Red, B)
(Red, A)
(Red, B)
(Red, A)
(Red, C)









 

Grade 7 Mathematics  14  C o m m o n   C o r e   S a m p l e   Q u e s t i o n s  

Domain: Statistics and Probability  Item: CR  During an experiment, the two spinners below will be spu n .     Represent the sample space for this experiment. How many of th e s e   o u t c o m e s   c o n s i s t   of a green and an A? 

Key: 6 

The sample space is 

(Green, A)  (Yellow, A)  (Green, A)  (Red, A) 

(Green, B)   (Yellow, B)  (Green, B)  (Red, B) 

(Green, A)   (Yellow, A)  (Green, A)  (Red, A) 

(Green, B)   (Yellow, B)  (Green, B)  (Red, B) 

(Green, A)   (Yellow, A)  (Green, A)  (Red, A) 

(Green, C)   (Yellow, C)  (Green, C)  (Red, C) 

 

 

Aligned CCLS: 7.SP.8b 

 

Commentary: This question is aligned to CCLS 7.SP.8b becau

s

e   i t   a s s e s s e s   a     s t u d e n t ’ s    

ability to represent a sample space and to count the outco m e s   t h a t   m e e t   c e r t a i n  

criteria. 

 

Rationale: After the sample space is represented, the studen t   c a n   l i s t   o r   o t h e r w i s e  

identify the six outcomes that satisfy the conditions listed. 
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Fart A Mandy must sl 3t et $20000 i goods this month n rder to cover her

—

Key:6
The sample space s

(Green, &) (vellow, A)  (Green, A)  (Red, A)
(Green,8)  (Yellow,B)  (Green;B)  (Red,B)
(Green, &) (vellow, A)  (Green, A)  (Red, A)
(Green,8)  (Yellow,B)  (Green,B)  (Red, B)
(Green, &) (Vellow,A)  (Green,A) ~ (Red, A)
(Green,©)  (Yellow,C)  (Green, ) (Red, C)




